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6) m>—6=



a® +2ab+b* =(a+b)2

1) 9p* -16 =



a® +2ab+b* =(a+b)2

6) 4n* —14n+49 =



Brioecenune o0niero MHOXKUTETSA
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IIpeoOpazoBaTh MHOTOYICH

a) ax + bx +cx =x(a+b+c);
b) 3x +3b+ 3c=3(x +b +¢);
c) Sa—35bc + 20 mc = 1
=5 (a-"7bc+4mc);
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CamocTofATensHad padoTa Ha KapTOYKax.

I papuanTt
1. 6x—6y
2. 3xy—x'y?
3. 3a+9%ab
4. abc —a’b’c?
5.x%—x*
6. 3ab — 6b

Il apuanT
1. 8a+8b
2. dxy+xy’
3. 36y—6>
4. x*yv'z' + x3z
5.a® —a*

6. 7bc — 14c




IIpoBepbTe ceos:

* BapunaHTt 1

1) 6(x-y)

2) xy(3-xy)
3) 3a(l+3b)
4) abc(1-abc)
5) x*(x-1)
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Hauaure omuoOKy
5b—2d =5(b—2d)
l14ac+12ab =2a(7c + 6b)

—27m” +9n°m =3(-9m +3n")

B 74’ -d%ct = ac’(Tc—a)



Pa3jokeHHue HA MHOKUTEIN
CII0CO00M I'PpYNIIUPOBKH



PACCMOTPUM MHOI'OUYJIEH
2a+bc+2b+ac

[ ClHHOCOb

2a+bc+2b+ac=2a+2b)+(bc+ac) =
=2(a+b)+c(b+a)=(a+b)2+c)



PACCMOTPUM MHOI'OUYJIEH
2a+bc+2b+ac

I CIOCOb

2a+bc+2b+ac=2a+ac)+(bc+2b)=
=a(2+c)+b(c+2)=2+c)a+b)



IIpoBepn cedn:

ac+bc+2ab+ 2bc



IIpoBepn cedn:

(a +b)(c+2b)



[NomaluHee 3agaHve B
rpynne

. ‘ ‘\‘

&%, Xopowezo nacmpoenus.




